u;;ie l\ump; AUSSIE SPARES DIAGRAM & PARTS LIST

Part
Number

5452
5465
6029
6186
6323
H396
H416
8935
8978
9067

9159

AUSSIE GMP PUMPS: B2KQ-A/X “W" WITH OR WITHOUT PULLEY

F401

F175 '6101 9065 6094 5442+F739

F547
8935
F520
8978

F549

9067

F548

F&76 HO66

Qty Description

PR NNRRPRRRRRNR

Snap Ring | 47
Bearing 6204 2RS
Flex. Gasket B 2618
Flex. Washer 33x39x2
Key B 4x4x15

Mech. Seal 19-39-13
Counterface 21-38-8
Gasket Inspect. Door
Complete Pin M8

Nut TE M6x12
Diaphragm SCH-2801/A
Seal Ring 19x31x3

F135

F521

CAT ASA5
F555 6186
| F174
6029
FS53
7099+7281
9074 .
N )
-
e R,
N 6323
5452
F118

F277 8855 H396 H416 HL18

List
price

$44
$9
S3
$6
$51
$111
$24
$46
S3

$19

‘ Part

Number

H418
F118
F135
F174
F175
F401
FA76
F520
F521
F547
F548
F549
F553
F555
HO066

Qty Description

1 Support B-2612/A
Shaft AlSI 316
Conical Tap %4” Gas
Stainless Steel Pump Casing
Valve B2KQ-A AlSI 316
Complete Check valve
Nut M12x1.75
Inspection Door
Stainless Steel Impeller 3-BI.
Screw M8x20 AISI 316
Washer D.6.5x24x2
Screw M8x40 AISI 316
Stainless Steel Screw M10x18
Tap AISI 316 1”G
Washer D.13x24x2.5

P R ANRDIMRRPRRRRRRR

i
| 7

Quality
1S0 9001

®sacLomaL

List

price

$348

$24

$4,072
$910

$87
$15

$119
$941

$5
$3
s11
$5

$123

$6

REJUVENATION KIT ... SAVE ON BUYING INDIVIDUAL PARTS

Includes check valve, mech seal,
GREJK-BZKQ-STX-W counterface, gaskets (items

(R547)

highlighted yellow)

$224

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices exclude GST

GMP/OCT2021/1




